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Question No. 24
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As an object is freely falling, the speed by which it hits the gr

Zero
smaller than the initial speed
maximum speed during the motion

same as the initial speed.
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. N
one drops Ina free fall from the edge ofa mountain, the distance I covers after 8 seconds 15 (USE g = 10 m/s/s)
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Question No §

If no net force acts on an obiact # . g7 . 7 ‘ o

Pythagoras principle
Newton's first law
Newton's second law

Newton's third law
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A 15-N Object is freely falling from a |

eight of 100 m s kinetic
energy after i falls 25 of ite
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Question No. 16
A ball s dropped from the top of a building. It has a velocity of 31 m/s
when it hits the ground? In order to find how tall is the building we can
use two of the following equation

L Vi=V,+at 2 5S=wmt ‘7:.(;."' [ 3 g=98m¥

, !
4 Vi=gt | 5 S=jgt 6 vi-vi=2as

only 3

fand 3

only 5

4dand 5
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Question No. 9

As a vase is falling down from a high |

potential and kinetic energies
potential energy increases
kinetic energy decreases

potential energy decreases
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An object travels in straight line and increases its speed unvformly from 20 mvs 1o 30 mvs after
covering 100 m. its acceleration is

i = 20
= 30

G= 106
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Question Mo 8
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Question No, 22

A plle dever (als freely triom a height of »

m above 3 ple. it
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auestion No. 3
it a rock falts from a balcony and hits the ground with the speed of 10 m/s, the palcony

‘s hex
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Question No. 2

A temperature difference of 100 degrees Celsius Is equivalent to ‘a temperature difference of 180 degrees Fahrenheit. Tt
temperature difference of 75 degrees Celsius is equivalent to

20 degrees Fahrenheit
#7135 degrees Fahrenheit

i SO F
75 degrees Fahrenheit O C ‘\\
25 degrees Fahrenheit O %
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Question N

A temperature difference of 100 degrees C IS
temperature difference of 180 degrees Fahrenheit
that a temperature differ

to

18 degrees Fahrenheit

12.6 degrees Fahrenheit

9 degrees Fahrenheit '_‘DO C k QO P

20 degrees Fahrenheit # >< 7
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HOW many Kiocalons

(The specific heat of Tungsten is ¢ = (

#1222 1%
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Question No. 15 )/

The power needed to SPCEd up a 1000




If a car's average speed i

distance it covers i«

540 km
450 km
504 km

/720 km




- Question No. 1

| Atlemperature differe

| nce of 100 degrees Ce
emperature differenc

€ of 3 degrees

50U equivalent 1o
Cetsius is equivalent to

A lemperature derence Of 180 degrees § abranhet The !;mh.l

) 45 degrees Fahrenhei

J 25 degrees Fahrenhen 1 g D
54 degrees Fahrenhelt 00
5.4 degrees Fahrenhent 7
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Question No. 15

If no net force acts on a moving object, it will have

M | © increasing acceleration
i ) zero velocity

increasing velocity

no acceleration

Y




Question No 1%

A 1 S(JO—P‘{J CEN ."”?:’ V 'r‘." C "." "’"’Z Y ( i £ o lalal s Yimate 10100 with a
speed of: going with a

116 m/s m = 1506 )\)‘ = ?-3

32 km/h
/11(3 km/h ZE = 43

90 km/h /—M
2
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Question No. 9

If no external forces acton a moving object. it will have

zero velocity
increasing velocity

increasing acceleration
Zero acceleration

9
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The time taken t

above the floor
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The kinetic enerqy of

(becomes three tim

4.4 m/s
2.4 m/s
1.7 m/s
3.7 m/s




e R o |
A painter of mass 68 Vhat is the
increase in gravitational potent

3:15J
31.5 kJ

31.5J _ l/L
#3.4 kJ

P .
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internal structurs
position
',;vl'i'tf

acceleration
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0f 1000 N is making an angle of 60" with the direction of motios
rk done is 500 kJ, the distance moved is:
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An object travels in straight line and in
Creases its speed uniformly from 20 m/ 4 :
covering 100 m. its acceleration is / dobelool "

o4 mivs
*25mivs

© 0.25 minis
> 1 mis/s
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Question No. 2

.

AS an object is freely 1aliing s acceleration s

noreasing
270
posive and constant

jecreasing
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I a stone drops in a free tall from the edge o e

[ a mountain, how long does i take to fal
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Question No. 12

(a ] a]x]
TWO workers push in the same diremsi. . -

N. If one pushes witt free of T S

A } . 4 frrrg ¢ A N the net
force is

800 N

200 N 5 ol + L/LD O

1600 N
— g

600 N
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110 km/h
5 km/h
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Question No. 8

HOW many mega-joues of heat must be given off by 7.0 kg of

1910
T23M0
199

453 M)










Question No. 20

ES e

The kinetic energy (KE) ofa 1.5 ton car tr

1. P=PE/t =5

——

4. 1 ton = 1000 kg

aveling at a speed of 30 m/s c N

VNG equation(s

) 35and 6
2and 6
1and 2

4and 5







Question No. 1

ring change of phase of a substance, its temperature
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Question No. 1

condensation is the ( nanae of phase from

ukt 10 gas
solid 10 bquwd

gl .
jas 10 hquid

wid 10 sold
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Question No, 18 nnn Uset O

An object travels in straight line and increases its speed uniformly from 20 m/s to 30 m/s after ::::::
covering 100 m, Its acceleration is:

n )
04 misls
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Question Mo. 2

Which of the folowing lemperZaxes 5 *vé:me;m oW 1 TEZSWE?

@ -2718°C
@ 7645 °C
@ -200 *°C
@ -27T4°F
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Question No. 25 nnn
If a car's average speed is 40 m/s on » =

1 9-NOUur tnp, the total
distance it covers i«

540 km

450 km J = L/LO

504 km

720 km +; 5LLﬁ)8© & ¢




In the Fahrenheit temperature scale the absc ute zero (0 K)
approximately at




Question Mo 23

kgms
kg m/s/s
kg m/s
kg s/m

The newton (N) is
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i & not foroe of 100 N ccalerate at 0.9 m/a/s, the arate’s mass is

@ 80 kg
@ 11 kg

» 111 kg







Question No. 3

LEErar
The kinetic energy of a 10 000-kg p

pie driver when It strikes a pile with veiocity 10.0
m/s is

50 J \/’V\’/(O DOOK%

0.5 kJ
50 kJ

0.5 MJ \O

v 7
g R




Question No. 2

4580 cal of heat is equivalent to:

©200.2 kJ

©19.2 kJ
°335kJ J¥ %
°31.7kJ W 4
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Question No. §

In the Celsius temperature scale, the absolute zero Is at



CQuestion No 1

Newton's third law Slates th

al for a force (F1) applied from object A On object
force (F2) applied from B

On A such that

VFl*F2=1

- "1agnitude of F1 < ma
=JNagnitude of F1 =
Y magnitude of F1 »

C

gnitude of F2
magnitude of F2
magnitude of F2










Question No. 22 n.

The unit of the coefficient of friction is

m/s/s
newton
Newton/s
has no units



Question No. 20 u-n

If you do a work of 280 J to place a 10 kg box on top of a shelf the

height of this shelf is H
1.9m U-) ) Q- g D [ 1]
25m dis LO g
1.0m M 74
2.8 m — 7

0




Question No. 7

An object has a weight (mg

10 m/s/s
2 misis
5 m/s/s

20 mJ/s/s

10 N)

It moved by the effect of a single force of 20 N

The acceleration of the object is
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Question No. 16

A large steel wrecking ball Is raised to a height of 25 m in 20 s using a power of

t,\: QS P.:‘ ﬁ)’ VT Mﬂh
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ic energy = the potential energy
£ kinetic energy + the potential energy = power

kinelic energy + the potential energy = constant

stential energy) is not constant




' Same as the direction of weight
normal to the Surface
Opposite to the direction of motion
Same as the direction of motion







